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e X (k) = u(t) - w(e-ad
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€20 €& Wlosh /e
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U = 0
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0
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) P ()= dim € exp ['&'ltl_]

G =0

rolke dhat Ps(£) & an  ewven sulmme“k. Funchon wih

Pb—(") = J!m & = ©
(=S I

rz— (‘E) cannof be u_sgé as o modal For' "‘b(

‘l&“'“ {:uncj:ﬂon .
) Reo) = dim L Sh et

(=2 I ™ +
Note. +hat+ F(E) & an ewn sglrnmezlvic, (und-im LOTHA

{ZLO) > )lm %‘_ Sin €% - 0
C—-éa & &

P‘C&) carnct be ysed as o medel for the della

FUﬂQkon.
.20 T2 3 2 3 5
. (a) j(gt—i)é(t—l)dt=§_§=_g

(b)_;[(z— 1)5(§t—§)dt= J“‘”‘“E"?dt: j(t_ 1)550— D)dz =0

-
-2

(c) _J;[exp(—z +1) + sin( 2—3”- nis( - —;—)dt =0

2
(d) J lexp(~t + 1) + sin( 2?7[ N6 - %)dt = ¢ tsin(r) =03
=3 “

© j expl — 5t + 1]8°(1 = 5)dt = - 5¢™5 = _ 5¢°25

b=~
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1-21 P[X&&]: f F(x)gx

{:(X): 6.2 S(Xx+2) +0:33J(X) +0-25Cx=1) + o.\[LJ(X“3)‘“("“)J
£

0.3

62
I o-‘ I
- 10 1z 3 2 5 6
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=y 1S
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-~ 5
- 0-2 +90: >+ 6.2 = 0.7

(Y Plxea . J‘L\((x)ax

4
- 0.2 +40-3 +0-2 + 0.1 J dx

0.2 +0.2 + 6.2 + 6] = 0-§

¢
d) P[x<¢e] - J]ch)dx
-0

4
T 0.2 4+ 03 +o~2+o.l[¢b‘
3

= 0.2 & 6.3 4 06-2 +0-3 - |
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4 [ ]
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de
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+ J'Ct—l) ) X lo—3
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1.23 @) xX(t)=8(t)+56(t - 1) - 25(t - 2)

(&S

14 1[5
v

et L
|
,J

(®) x(1)=u(r) = u(t—1)+25(t-2)
X()=6(t)-6(t—-1)+25(r=2)

1" (&)

‘>
|y
tl

k-
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(¢) From Equation (1.12), we see that
X(1)=2u(t+1) - 46(1) = 2u(r - 1)
(1) =28(+1)- 45°(t)-25(1-1)

x(t)
,!1 ¢ S —£
T -4
/(&)
T‘ T I - &
-4 -=
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